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The pressure at the top of each liquid
column is atmospheric pressure, py,.

The pressure at the bottom of each liquid
column has the same value p.
The difference between p and py, is pgh, where
h is the distance from the top to the bottom of

the liquid column. Hence all columns have the
same height.
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A 15.0-kg solid gold statue is raised from the sea bottom. What is

the tension in the hoisting cable (assumed massless) when the
statue is |

(a) atrest and completely underwater, and
(b) at rest and completely out of the water?

Density of gold = 19.3 x 10° kg/m?
Density of sea water = 1.03 x 10° kg/m?
Density of air = 1.2 kg/m?
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What volume V of helium is needed if a balloon is to lift a load

of 180 kg (including the weight of the empty balloon)? {(d ..)J)

Density of helium = 0.179 kg/m?(at 0 degrees Celcius, 1 atm) ———
Density of air = 1.2 kg/m?
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